

Directions: Write in tens and ones and then add.

$$\begin{aligned} \text{(a) } 17 + 4 &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} + \underline{\quad} \text{ ones} \\ &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} \\ &= \underline{\quad} \end{aligned}$$

$$\begin{aligned} \text{(b) } 26 + 7 &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} + \underline{\quad} \text{ ones} \\ &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} \\ &= \underline{\quad} \end{aligned}$$

$$\begin{aligned} \text{(c) } 19 + 5 &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} + \underline{\quad} \text{ ones} \\ &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} \\ &= \underline{\quad} \end{aligned}$$

$$\begin{aligned} \text{(d) } 24 + 8 &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} + \underline{\quad} \text{ ones} \\ &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} \\ &= \underline{\quad} \end{aligned}$$

$$\begin{aligned} \text{(e) } 25 + 9 &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} + \underline{\quad} \text{ ones} \\ &= \underline{\quad} \text{ ten } \underline{\quad} \text{ ones} \\ &= \underline{\quad} \end{aligned}$$